


offence of Sedition with reference t“.

L R the
2= igﬁ 'E’p’;sj:cgselﬁws- : .
e B L @;Qg}gxﬂmw WPédy,
276 ‘Tmcméicﬁ“""“"‘;‘* earé@s.
g . essential ingredients of Cheating,
3, Explain :pzrso!l said to cheat by impersonation?
is ;
When o GipEA e BMDIBMET s
GuoTppEY puil  EOMOILLG Qo
uEunPs 2 GAps?
qunppepnss sGAIIOS0E =
Explain the offences relating to religion under the
A1 [nf-,[pian Penal Code.
gipu pimass TLEBE &) soupfhe
Qgn_iunen BHOEEDST cleré@s.
Define the offence of defamation under the Indian

Penal Code and state the exceptions.
w ‘@ﬁgu pemL_aané n_:_p,ﬁar &) s GHpsHeman
aanugiss Siser < lbEsmeT Fans.
PART B — (8 x 6 = 48 marks)
6. Write short answers on EIGHT of the following
not exceeding 2 pages each :

gaiQaur Cadrelisgh Qran® LssHSEESE WaTind

Garapauaaupper alibhE GDEU  dasar
Sjafl&sab:
) Attempts to commit offences.
Gpprsd Qaliaspsner pupisdr.
bduction.

2 3872-18/FPJ

® (¢) Personal jurisdiction.

B ereuang Sl eugoy.
(d) Necessity knows no law.

Caaanfer QUi Bawlu@d Gauwm sLLID

sflwing.

J_e; Adultery.
Sipemoenan LT,

M I;.Iiacarriage.
&(m& SHlengeay.

Jg) Public Nuisance,
Qurgs Asraama,

(). Counterfeit Currency.
SETET Hremmtd Swirflgge.

L Culpable homicide.

%
);0 wyed eflenarells@id @Hmio.

() R Vs, Tolson.

S\TET Tl Lnebaa,
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PART C — (4 x 4 = 16 marks)

Answer FOUR of the following (not exceeding 2 pages
each) by referring to relevant provisions of Law and
decided cases with cogent reasons.
GeimeumeueTauDDIET prenélne (@euQaurm Cadrellasb
@ran(® LGSHISERSE Blsmoed) FLLL GUESWIRISET L0 HmiD
Siorafléasiui apb@E@E safl SGHS TS an
alen_waflgsayib.

offence?

‘A’ arenueul @ QUL oL g Ao passmans
SmGaushsns apupd Aedlpri. eme Quigenwis
HpE passdr gOsmeanpd Goarsmss

Sobs
srandprt. ‘A’ gl Gpob GaliseurTamym?

go. Is ‘A’ liable for any offence?

‘A araruant ‘C’ erenueuenrs Qsrene Qewiybuy. B
arenLicuans sremGénni. spemd B’ @dieuny Gladiw
gpraig GOPEAPEY Gunpilume

4 3872-18/FPdJ

- wpsfprir. A

T

‘A’ makes an attempt to steal some jewels by
breaking a box, but finds after opening the box,
there are no jewels in it. Is ‘A’ guilty of any

- ‘A’ instigates ‘B’ to murder ‘C’. But ‘B’ refuses to do

'®

ik

‘A’ gave a sum of money to an employee of the
bank to be credited in his account. The employee
misappropriated the entire amount. ‘A’ sued the
bank for damages. Will ‘A’ succeed?

‘A adLer  @POECL  uarses kbl
uenfluneril_ b Qar@ss sarge i samadda eal
oaudss @arenemit. oypsl  ueflumer  Grssl
uamgapud esur_d Geigmr. ‘A’ add Bz
Quse Camil apsdinr. ‘A" adued Qeundl
Qumpeuryr?

A Postman enters into a house to deliver a letter.
After delivering it, he threatens the house owner
with a knife and snatches away his wrist watch.
Discuss the offence committed by the Postman.

SUTDSTIT QBT sgFb Garend smie dealw &
e iggyer menpdlpnt. sysses sty Gaus Geany,
ailgedr o flovuraars ssfows asmiy wylg
siuflar  esssgemioss udlsn Qeddeammm.
gurasnyt Lfibgster gppsfamen dllaurdésayb.

‘X" shot at a tiger which was carrying away his
friend ‘Z'. The shot hit ‘Z' and Z’ was killed.
Discuss the liability of X'

X seperu pawur ZT-eowus sedsQsrean®
Gaaogid ydlows s@fepri. guursds g@ ‘Z
bg sradlugre stwappp 2 Qareeuu@ddmn.
X — gL w Qurpiiy Beowmw dlardssa)b.
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- ‘A’ finds a valuable ring, not knowing to who |
belongs. ‘A’ sells it 1mmedmtely wi
attempting to trace the owner. Is *A' ilty

~ offence?
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Register No.

FPJ 3635-17

(For the candidates admitted from 2009 — 10 onwards)

B.A.,B.L./B.A.,LL.B. DEGREE EXAMINATIONS,
NOVEMBER 2017,

(Five Years Regular Course)
-First Year — Second Semester

LAW OF CRIMES

Time : Three hours Maximum : 100 marks

PART A — (8 X.12 = 36 marks)

Answer THREE of the following not exceeding
6 pages each.

eauiQeunp CaarellaEd SLm LISEHIGEREE WaToa
Slereumeuareupmier epemiln@ edlenLwatléaai.

1. Explain the nature and extent of unsoundness of
mind required to exempt a person from criminal
liability. Refer to leading cases.

em Ysg Howwers GDOU Qumrmy el mpa
Sossass oaflar 9565 Hlaw agsaamw WLOHDILD
LptiuLer @pés Caar@ aaumg pddlwunrer

Eulipﬁ@ﬁ@LﬁhT cffleT& G s.




What is giving false evidence? Distinguish jt fl"l
fabricating false document.

Qumis sreny Sefigsd  eEDID  Tenan? S
Quriireuemid Lanenad &Sl mHal GQ"QIU@E\@&.

What is hurt? Explain the circumstances hies
which it becomes grievous hurt. [llustrate,

sMWD eraTpIe) eranan? ahsE G oHleesaid i
QeT@mrEmUD HGED TEUDS  TOSHGET [ b

cllené56.

What is kidnapping from lawful guardiénship?
How does it differ from abduction?

gL s - sruuretflLliphg  QatenenSlig ss6) GTEnm e
eTeman? s HEadle) Qops <@g ey
Caumu@&mes?

‘What is Murder? How is it distinguished from
Culpable homicide which does not amount to
murder?

Qamena cr;dr;orrés cenen? g eriGung Qarepawinsn
worentid chlenamelilés s o ©DPHHS Mg
CapuBssiu®ing? TN

2 [ 363-17/FPJ |

PART B — (8 x 6 = 48 marks)

Write short answers on EIGHT of the following
not exceeding 2 pages each :

geaulaunm Cadellagn @rean® ubsmsERsS WsMoe
Glemeumeuaneumar el ig M@ GoAIW ellenL 6T eT(LSHIS :
(a) Parties to crime
&S srudentesear
(b) Solitary confinement
gaili Slenm
(¢) Public servant
@ung) earluim
(d) Criminal Conspiracy
GOOPD 58
(e) Criminal force
GHDOPD euaTip@D
(f) Theft
LG
(g) Causing miscarriage !
sEdlege) THUGSHIED
(h) Adultery
* e LieRTige

(1) Exception for defamation
Seugn eupadlan eflflell oo @ aer

“(j) Attempt to commit offence.

@pprsd Lflugharen apwpdleer,
3 | 8635-17/FPJ | .




cases with cogent reasons.

Pt predlpe (§iQane Gareligin
m&m lamos) L mmﬂum:wr WOpm

“

- Qauslprgamman

A, a citizen of India, instigates B, a foreigner in
Goa, to commit murder in Goa. W&aﬁis the ﬂﬁence
committed by A? 3

@pdu suemdu 'A'_ Grdruamr msmmg

Qﬁmmu& ﬂauy,- ﬂ‘ﬁl‘mf‘ﬁ‘ @
""“MW @ﬁmmcrdm? '




nAZ ’1.".'":_‘; '-_’Emtarlly throws into a river a rmg belonging |
“to Z with the intention of thereby causmg lusa te-
7Z.Has A committed any offence? : .

7 m‘érum@.ﬁ@rﬂm @ (m Gmw@qg;mﬁ A eremueui ZE@

& @@c_jq FHUGSSID 2L HGHSFILE S FNEWITE it
DM sﬂL.Gngﬁlé]mrrrr. VA1 @g':uq‘

@b@"ﬁﬂiﬁ @m@ A gGs@id GHPL L-lrﬂm@mmm,rrr?




Register No.

FPJ 3550-17

(For the candidates admitted from 2009-2010 onwards)

B.A, BL./B.A., LL.B. DEGREE EXAMINATIONS,
MAY 2017.

(Five Years Regular Course)

First Year — Second Semester

LAW OF CRIMES

Time : Three hours Maximum : 100 marks

PART A — (3 x 12 = 36 marks)

Answer THREE of the following not exceeding
6 pages each.

qeuleunm Caarelil&@id Sum USSRIS @SS WISTLH
Glemaumerameumpier ppenlnE eflenwaflsseyLb.

1. “A crime is a legal wrong that can be followed by
eriminal proceeding which may vresult 1n
punishment” — Explain the statement.

“GOpb eretug @f slLsan; Asmens EsTL(Hd
GO  aupsEE QEudpepsdr  samleanild
apigwiemd” — G)&snpen ellaréEs.




Explain various theories of punishment and which
theory is more appropriate for the present day

society.

uaGaipy  GuENSWITEN geanLeend  sMbSudsemer
Aarasah, BHSTEE spssPDE Tpes  smEHud
laayb QUTHSHLTESTES SWYLL?

Explain the circumstances under which a person
can exceed his right of private defense of body and
property upto causing death.

ap@siss Gpioassid gman seig oL wHmb
oL ewg sHaemiyfiewau LyRID dlemearela@n
SiereflHEU eI SEOMD?

Explain the essentials of the offence of theft. State
the circumstances under which it will become
robbery and dacoity.

Holhs eEopsdar  Qaflumwwunss  sapsmer
dleré@s, apsé Gowsaid =g Aardemer wHMHD
sl (& Qardranaté GHp0TEDg) TanImEE samis.
What are the valid defences available for the
offence of defamation?

Slugns GopsHHEAL erdiaursmsdr wremea?

2 3550-17/FPJ

6.

PART B — (8 % 6 = 48 marks)

Write short notes on EIGHT of the following not
exceeding 2 pages each :

geuGeunm Gadrells@n Gran() LsEHEEHES Blamoe
Qenaumeuanaupgier arig @ GoiL dlansdT 956 -

(a) Abetment.
GHD 2L Hans.
(b) Bonafide act for another’s benefit.
Gpit paven smEs Qe b pHEswD.
(c) Cheating.
FLOTDHIISED.

~ (d) Death by Negligence.

seuand @Gameund) gHuED L.
(e) Election offences.
Caiisa Agmiunens GDpRIST.
(fi Fabricating false Evidence.
Qumisé sreny Lemanse.
(g) Grave and sudden provocation.
SiE6 PO Hle TR FHTD.
(h) House trespass.
enar DiSsIBDed.

3 3550-17/FPJ




(1) Ignorantia juris non excusat.
siL iflwren wanalléas Hes HEDa.
(G) dJoint liability principle.
sl (L1 Qurpiiy QB
PART C — (4 x 4 = 16 marks)

‘N aanp udell AAwT G wraTU@as S(mHSSID
céueflgs  smwuapd  GHULTOESHSEGW
QummL @ oflu  erEefsmsyen  SaTLenen
sjefsfpmi. aame wrarer GopgelGpnt. G
verefl ey Al yilEss EHob wrg?

eflsoms

, - : 9. ‘A’ a citizen of India instigates ‘B’, a foreigner in
Answer FOUR of the fo]lO\'-.'ll:lg (not exceeding 2?ages | Pakistan, to commit a murder in Pakistan. Is ‘A’
each) by referring to provisions of Law and decided [ guilty of any offence.
cases with cogent reasons.
Qéreumasanasppier pradie (GeGane Cadrelligiy A adn @EELE Gapr @Auro Qs QareG.
_ T ;i R Sl urflevgreflas oerar ‘B’ eremucueny SiES BLiged @
Gran(p LEsHSEEES WENoD) FLL QI@SLREET HHID Q e, B T
BronafaiLLL @S & R sneemLé Qeiyiong gram@Aprr. Gl
L TCseid GHP Ube 2 dramyn?
A’ an officer of a court of Justice, being ordered by 10. ‘& k.nowing tl.mt her husband‘ B' has committed
that court to arrest Y. After due engquiry, dacoity, knowing by conceals ‘B’ in order to save
believing ‘Z’ to be Y’ he arrests Z. Whether ‘A’ him from punishment. What was the offence
has committed any offence. committed by ‘A’?
N gadlp pHuwan sgeer Y aamrs esg ‘A’ areneuit seng) sereut ‘B sl @& Gsmdrenenudie
Qsiiw  BHwamEHTED eg,mﬁfﬂﬂi-ﬁr-@@mﬁ-_ 2w rUC@erernt  aenugy  GsfECs  Sears
gpenpuded G‘.S]W'ﬁ;?ﬁ ‘95‘“-'2' “i‘:'“mq Y arend ﬁ@ﬁ sam_mande @mbs AGsss Qsrarar woDHS
mssl g el B0 o TR GO i, @86 A yfipgicren @ppd Ling?
ey
=l ' 11. A patient named 'B' suffering from cancer, for

‘A’ a school master, corrects a scholar by giving
punishment in a manner not intended or likely to
injure him, using due care. The scholar dies.
What is the offence committed by the school
master?

4 3550-17/FPJ

which there was no hope to recover, requests ‘C’,
her husband, to relieve her of her agonies by
shortening her life. ‘C’ therefore kills ‘B’ one night
while she 1s asleep. Is the husband liable for any

offence?
5 3550-17/FPJ
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e e e |

B gam Quumerw uydp GprwiTed n-_mm.é]u_@m_«...
GemueLL QUans i Comunell sen  sereugrean
‘C QLo gren et Glepss eumuuyser @ldeame
caralh s gawend  Gererm  ef@wommih
Cavam@Epni. @aame @i Greiléd 2 mh@b Cung ‘C’
sengl wenanellenis Qarangy eN@G&prt. QHé semreur
gCagub @D YfipgieTenmyn?

12. ‘A’ intending to administer to a pregnant woman
something capable of causing a misearriage, infact
administers a harmless substance not capable of
causing the intended harm. Can ‘A’ be convicted
for any offence.

‘A’ aremp put EHESlMSey THURSZL AurBLE G
smaypp Quenalipe SnE ggw doadssns i
Qunmenens GQardaslpmi. SLCUTmeT &mEslmsame
JOUBEsE sagg So. A -oa  gGaab
GOPEADEES Gemis 55 QUGION?

-

6 3550-17/FPd

Li e —— ot




L

Register No. | ]

FPJ 3404-16

(For the candidates admitted from 2009-2010 onwards)

B.A.,LL.B./B.A.,.B.L. DEGREE EXAMINATIONS,
NOVEMBER 2016.

(Five Years Regular Course)
First Year — Second Semester
LAW OF CRIMES

Time : Three hours Maximum : 100 marks

PART A — (3 x 12 = 36 marks)

Answer THREE of the following not exceeding
6 pages each.

geuQauns CaarelE@ b <M LEHEISEREE WSTDE -
Gemeumeuaaummier epedn@ efleni wafléaey.

1. “A crime is an act committed or omitted in

violation of public law forbidding or commanding
it"— Explain.
“@hph  aeug  durgFsLLEETO  HHESULILL
Qewesmer Qaleugid slLgsre elfssiiL
Qewdsemar Gaiwmoe allHrugb @D’ —@Eahg)mg)
&er;bﬁﬂum.; (ALY




ot liability with decided case laws, @ o

Explain jo!
6.

ey QiU G’Jﬁ?é@&@l'dﬂ ai'“L.-{:E";":‘_‘]l-"'T‘uJJL‘u_4
ﬁmwa}uﬁﬁmé‘@&‘

Discuss the limitations for exercising the right of

private defence.

FHSTIL] o fleenn  LweTUOSHIE® o drar

sl HUTHE®ET cdeunflasalid.

«All Murders are culpable homicide, but all
culpable homicides are not Murders”-Critically

examine.

S EATESIS Gsnane GDOEISELD, DD
ererafléEd GHDID G, D HDEES) L7ETD |
Aaerediab GDPREEED GsTeoas GhOD pETE . |
@émpap e AsUs.

What are the essential ingredients of mischief? |
Describe the various aggravated forms of mischief.
Qungpfius Gppsdlen sl FaqyaeT  Wnenel?
Qenrgzflins  @hpsHen  sB@wnet GUEBHEHET
afleufls.

2 3404-16/FPJ |
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PARTB — (8 x6=48 marks)
Write short notes on EIGHT of the following not
exceeding 2 pages each.
geuGeuny Cadrellago Gy LS S (@h5H(E WBISTLo6

j‘m(m@mmmmm eriig @ GOElw ehlenLaaT aT(pEIS:
) Abduction. @-‘;‘ﬂ 2 Bﬂ

L BQUmBE.
(b) Bigamy. L h o }

B

(%gnummlh S «\)) TQQ“)
¢) Capital punishment. & - L g_ﬁg') W

LD & 65T ener ]

( Defamation. '\ Ll ?l? = 3 2 /
SIQUGND-

(e) Extortion. :
FEMSE 0 ublssa.

() False evidence.

| Qumus smem.
(g) Grievous hurt.

Qan@rusmuLb.

3 3404-16/FPJ



Eir]lf)“l;y referring to provisions of law and decided cages

7

Harbouring of offenders.

® yeedlL 1D siafl55eD. .

@g‘ymsurraﬂek@
(6] Jgnorance of fact.
flaipento SHLTEnLD.
G) dJus necessitatis.
Gzeneu SULLD BT,

PARTC — (@ % 4= 16 marks)
er FOUR of the following (not exceeding 2 pages

with cogent reasons.

gem() LEBESERSS BET06 ) FLL GUGSLIKISET HyH

SnonaflEsiLCL cupb@s@as safl 5GBS SryamiisEyLdr

cienweflEsa)id.
Three persons A, B, and C broke open a locked
house and started ransacking it. ‘D’, a domestic
servant, saw them before committing the offence
and raised alarm. A stabbed him. D died. A was
round guilty of Murder, Explain whether B and C
are also guilty for Murder.

& < wHpL @ aap ppeul @f Wlgw eSlgeaer

ey Sobs Qsraeer Sigssent. Qarerear

Sl (P penCu ' erémp &S G Casmeisyd
Sismall Uniggelc @ supD eupidaned. ‘S
swaas spPurd  Gpdufled @obs  Guremi.
‘o' Qarenes GHPL smiL Ul L. ‘=’ wppb G

Ga"‘?"“"”“ GoosdnE Guryly  gones Geuam@Lon

aaneng el anéaayid.

10.

‘A’ takes up a gun, not knowing whether it is
loaded or not, points it towards ‘B’ and pulls the
trigger. ‘B’ is shot dead. Explain whether ‘A’ has
committed any offence.

A aauan @it glursdlenw g CamLLmhse
Aruuduc @ edrergn Gdoeawn aar SiflumoGa
‘B’ enw Cprédls sniiy. sgan elansenu Gpsdlpmi.
Geamme B’ Gois e@dprr. Gdla ‘A’ gGpeud
@oob yflgerermyr erenLieng el arésein.

‘A’ instigates ‘B’ to burn "Z"s house. ‘B’ sets fire to
the house and at the same time commits theft of

property there. Decide the offences for which ‘A’ is
liable.

‘B’ eranuicueny Z” an efi_iqgn@ £ evaugsy erflgsiell Gommy
‘A’ gremg ARdpni. ‘B Silnh@ § eawss Ol
SnEmesEn  Qurmeasmer  Hows  Qeadprr
A- apQs5s GhorsEEe Qurpluy gps Caudn@ib
eranLeng (pigey Asuis.

‘A’ knowing that ‘B’ has murdered ‘Z’, assists ‘B’ ta
hide the body in order to save him from

punishment. Explain whether ‘A’ is liable for any
offence.

B eremueur ‘2 arénucueny Qarenen Qg o drermi
aanuems MBCs aars seam_ameanid @mba
griurpn  Qsreeudr.. oL ee WwennULSH S
A aauair egaflpri. @da ‘A’ gGsgyn @Ghmb
ufibgauit Seungm ereiuens ol endmayip.
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12.

‘A’ puts bait for dogs in his pocket and dis]mnest,ly
induces Z's dog to follow him. Z's dog has begun to
follow ‘A’. What is the offence committed by ‘A’?

BTLSEHEHTET 2. GTMmas Sag UNGLls 1w meudss
Qanem@® ‘A’ eerueu L &GF Qsmpsorer prepw
Coprenowpp eflgons sertenar e Qs @momny
Qeniflpmi. Gdlo ‘A’ Lfibgidrer @GDmb wimg)?

‘A’ and ‘B’ are brothers. On quarrelling with his
brother, ‘A’ fetched a sword, but was seized and
disarmed by others before he could use it. Has any
offence committed by A? Explain.

‘A wog ‘B Qoeimd eCangrisdr e geng
sGargrmLen ghulL & sameLuld ‘A’ af ssdlauw
T@sz cumAprT. Sigomar LLETLURSSHID eranGL
=g Siuflid @mps wHparseaTtd uBlsstuL ()
g, @da ‘A’ gCaan Ehpd Yiipseut gyamym?
elleai@s.

Bas . 3404-16/FPJ




-

Register No.

FPJ 3128-16

(For the Candidates admitted from 2009-10 onwards)

B.A,B.L./B.A,LL.B. DEGREE EXAMINATIONS,
MAY 2016.

(Five Years Regular Course)
First Year — Second Semester

LAW OF CRIMES
Time : Three hours Maximum ; 100 marks
PART A — (3 x 12 = 36 marks)

Answer THREE of the following not exceeding
6 pages each,
gaulaumm Cadrelila@d < um USSR sEnsE@ WBasnoed
Slereumeuareupmiar apendlh @ aflenwiafdseyib.
1.  “The function of the criminal law is to preserve the
public order and decency, to protect citizens from
what is offensive or injurious and to provide

sufficient safeguards against exploitation etc..,”
Examine the statement.

‘eopelue sl gdlar uall aratug Qurg QuEEEG
whmd Qurg pLgoguliemer STUILG, GGLESMET eTHE
GDOSH S BHSID DADQF! ey &elell g
UTHISTUUS WO sremLgiée adlyrer Curgomer
urgsmoy wpnib ue...” Gupsar.. saploar ey
Qais.




What is dJurisdiction? Who are the pegns
exempted from the j urisdiction of crimina] courtg _

Discuss.

SydTaueny  GTETDIE aranen?  @poediwe Bweny
sy araueomuialimbel wim Wi
aafssu®Hps - slaurdéas.

Gﬁ]a}&(‘g

Explain the following :

(a) Accident

(b) Act of an intoxicated person

(¢) Doctrine of compulsion and necessity.

Geapuaupep daégs

(o) Blugg

(<) Curens Gewd

(@) slrmuiu@sps® wppd Gsoar Asm_iuner
Cam_un@sar.

Explain the provisions relating to offences of

public tranquility.

Qurg Sewdis Eppehd doaddsss sgw
@hoisar Qem_iumer 51 Gflaisemaer cBlarés sams.

5. @What is Rape? State the latest amendment on
offences of Rape with Law Commission directives.

auen et erenpre) aremen? euenertisd LpHlw

<) Gl 68 LD TED

FLL.  Shenemri

s B mgpiisenern

Al apenpmafieniig. o ps.

PART B — (8 x 6 = 48 marks)

6. Write short answers on EIGHT of the following
not exceeding 2 pages each :
geu@euny Cadreflémin Gyen® UbstsErsd Wasmod
Genaumeuaneupmien e iq b Gy dllenLsdr eTpgis.

(a)

(b)

(©

d

(e)

®

i

Extortion.

SisasH Lflgsd.
Adultery.

Smempenen LiemriTge.
Grievous hurt.
Qsr@rismub ddamercligge.
Criminal trespass.
GOPLPD 25515
Capital punishment.

LD ERT HeTL ene.

Abduction.

3 3128-16/FPJ
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(g) Cheating. ®
gLMNSL.
(h) Right of Private Defence.
spsmiy efew.
() Fabricating false evidence.
QAuMis SHEITD LDSNHED. J
() Attempt to commit suicide.
spQanee wpwHsl.

PART C — (4 x 4 = 16 marks)

Answer FOUR of the following (not exceedmg 2 pages
each) by referring to relevant provisions of Law and
decided cases with cogent reasons.

Geaumaiereuppiar pravdlnE (Geudeaunm Caeralls@ih
Qran() usshsERES WSMOD) FLL QIeSWRISET WHmLb
Srnoreflést) UL aIpEGE®ETS safll SGHE SMyewril HEHL 6t
e wallssayib.

shall be employed for the purpose of prostitution,
What offence ‘A’ has committed?

‘o eramueuit ‘ger’ erendlp Gereueny efluFeny AsmPede
rOUOSHIEDEE amkiEGApT. @ﬂw sefler @Hp
Qurptiuen_eSlenar apiy.a| Q.w.l

7. ‘A, buys ‘Z’ who is a minor, with the intent that ‘7 )

4 3128-16/FPJ

10.

‘A’, in good faith, believing property belonging to
‘2" to be A's own property, takea that property out
of 7's possession. Decide the linbility of ‘A",

‘o Gt me@ e elor e, pang Quimayehr erem
aredrenf] ‘e’ el Gunmenar <miaulen
eoL@mouldimbs  a@sfprr.  Ghd e el
Qumpiiueneflenean Siromeflsae.

‘A, for the purpose of inducing.'B’ to desist from
prosecuting a civil suit, threatens to burn B's
house. Has ‘A’ committed an offence?

‘o et ‘ay’ eréruiauflan o Memoudwd aipidlener
waciGuony grem (o Epnadd, wieuflen ofient. el
eil@Gaucr  eremmy A @Hpri. o @Hoid
il mieremmym?

‘A’ holds ‘Z'" down, and fraudulently takes Z's
money and jewels from Z's cloths, without Z's
consent and in order to commit such an offence, he
caused wrongful restraint to ‘Z. Explain the
offence committed by ‘A’,

‘@ ‘geor aeéLeey qurpmb aavemisdar 5Gy
ponefl sjeuflen Lewrh wHD perssener, Sl QUmHENL LI
@esaflengl, el e uledimps  a@aERApmi,
SCLNE st ‘o’ e apeplend s
THUGGHAPTT. GBS ‘'’ Qi BpppHiear smps.

b 3128-16/KPJ
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‘A’ finds a valuable ring not knowing to whom @
belongs. ‘A gells it 1mmediately without
attempting to discover the owner. Decide the
liability of ‘A’.

‘e eamenr wduyllss Gordryd genflener
a;ﬂisrﬁl_@éaﬂgirrr'r. DG  WMHENL WG eren ﬂm@ég@
Qsflwng. Sigen ofenwwrereny seam i ereiells
wpwphflyn Cuopbstaremmod Digomear oL anguins
Anm H&pnt. Qe ‘= efler QummiiuenL ellenen
Siorefl&sab.

‘A’ commits house trespass by making a hole
through the wall of Z's house and he putting his
hand through the aperture. Has ‘A’ committed an
offence?

‘@ erauai ‘gt eilar Syl wsHBN mewHs
Sjeueli g en saufld G siunrsms ahuBSS s os
seopud SerellpE afldsig eausfpnr. @
‘= Goow fibgdrermyr?

6 3128-16/FPJ
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B.A, B.L. DEGREE EXAMINATION, MAY 2015

| =2 (Five Years Regular Course)

="

First Year — Second Semester

LAW OF CRIMES

Time : Three hours Maximum : 100 marks

Answer THREE of the following not exceeding

|
|
| PART A — (3x 12=386 marks)
! 6 pages each.
|
|

geuGleu(m eflemedlh @i LIS&IEIS (5SS, LOl&Tioe
! lgi 5 = = 0 + " a r
E SrelGeuaraippieT penlenss eflenwellsseab

/ 1. Crime is a legal wrong in violation of Penal Law of
| - the land — Explain., ;

QT Briiq el SerTL_enem — sLLpans Bl Aeiuiiu@io
FLL e Seun) @GO @b — el erréi (.




. \
What is the object of punishment? What g, :
main theories of punishment?
peaiLmaniler  Grnssd GremET?
p&dlLman Gam_un(ser Wreneu?
-

Consent is no defence in criminal law — Discusg.
HI@Q}JQ‘J‘ @!:D[DE &L’.ngﬁb GT@I:I'GUITQLE] %E”'ﬁl”
efleurdl &smayh.

What are the essential in
will it amount to robbery?
oL  Gppsfar  wsdu 8apyse
STUEAUNWE @ig Qandreners GODLTEHL?

gredients of theft? When
Wimengy 9

What is meant by the term
Provocation’. How for is it us
murder?

‘grave and sudden
ed as a defence for

Bl eran gHUC L sGmwbumer Camuw’ arenmed ereiran
85. Qstews GOOEEHEG adyren UNHLNE 6T
AenellHE, LuwleruGin?

PARTB — 8x6=48 marks)

Write short answers on EIGHT of the following
not exceeding 2 pages each, = e
fealQeunm ellenes@ib @rer® La BAIS(EREE B5To0
Wlereu meuemah DT T4 & EmAL eflen, e (P56
(a) Act done to avoid other harm,

Caip @i riiews saliss GeElwtiu@in Qewe,

2 -~ | 2814-15/FPJ

. i

ﬁﬁﬁTmeugé‘ '

(‘T-‘b) Bigamy. |

@) SNy e,
(c) Common intention.
Quimgeuren eTeRTERTLD.
(d) Defamation.
AUzl
(e) Extortion.
SiEEPHH LPEEE.
(§  Forfeiture of property.
Qangens LBlpsd Galise.
(g Harbouring.
yseilLib Biefigse.
(h) Mc Naughten case.
Qo BTG UIDEE.
() Ignorantia juris non excusat. | -
- sl _ang SPEHmEsetlDm® aranug erdliTeunsio
g%&"g]-
)] " Unlawful assembly.

stL cfiGrngpé salLid.

: 2814-15/FPJ



PART C — (4 x 4 = 16 marks)

Answer FOUR of the following (not exceeding
2 pages each) by referring to relevant provisions of |
and decided cases with cogent reasons. i

Geraupaiarappie predloe (@@ Caerelsgn
Qe LEERIEEESE WSTLO) FILL ueSWkiseT OPEID
Siworeflé&stiud L @gé;@;&smm sl 5GBS sy sl
el wiefl&sayib.

‘Al inst‘igates ‘B’ - to murder ‘D', B - in pursuance
of the instigation stabs D. D - recovers from the
wound. Has A - Committed any offence?

‘A 5 sauat B - Win D - eduaer Qsre
Qa.mu.|mrrg| srew(dpri. @zemd ‘B, Deoow sgdHuird
G5HeABApT. erafigib D srukisd o fu Heoauia
2l Genpsged@api. @do A - gGsaud @i
S : 3 (Glujulhy
yiipSwsdpmyr? :

fi : puts jewels into a box belonging to Z, with the
intention that if it is found in that hox, it may
canse 7 tbeina i

offence committed by A?

AL B B

i S oo TGt SeUULLIS Z - Ap 6
@mmﬁﬁm@ sy SsLubeunt aen @smer Qadidpmi.
8o A - yfips gppo wig?

Z -&@j Q&nj'sﬁmg-_ar Quuq.ugo')

.

4 2814-15/FPdJ }

10,

BE

-

'S & em Imran with intention of causing death to a child of

tender age left the child in a desert place; but the
death of the child does not follow. Is Imran liable
for any punishment?

wrerses elmarellas CauemRd T TSR SSIL &
GODHS LD Gpbase unmh Qoens eF
QLsHé @ubgmen eranueuT i @elGamn. SyETTGID
Gwies @néscdodme. @fa @boen gCsa@d

seTL_cnansE eflweupreungm?

Vasu a police officer, tortures Ram in order to
induce Ram to confess that he has committed a
crime. State the nature of offence Vasu has
committed. -

s aadp @i staudgep Sfsth grd aaLQET
S §E GhPs®S AsLFHTE GUUBD UNEGapaid
sfsEorn seupsgdpnt. s GaigeTer GDDD
wngi?

Uttam Singh makes an attempt to steal some
jewels by breaking to open a box, but finds after
opening the box, there are no jewels in it. Is
Uttam Singh guilty of any offence?

e gsb S i @f Quigew caLss S
possoars HHOushsTs pups Qeufpni. gpem
Quiyewus Hops GG BDSST ghgramgib
@oarsmss srardpiT, 255 fr gGsamid GHDLD
Qeigeugmeurgn?

5 2814-15/FPJ
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B

12. 7 a person of unsound mind attempg ‘
| ‘A’ inorder to protect himself slmnt:ztﬂ Er{ﬂl Al
gun. Is A guilty of any offence. Iﬁ"Ithq

7 agib wablow sfllldans sur A e
Qsreney @elw apwedlpmi. ‘A’ e ETLJEJ@U
Qamerend ClummL() SenenenL Qm""”&ﬁum;;nm"}
sHdpmr. A-gGaseid OO Qawigmyr? ~anL

6 2814-15/FPJ
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(For the Candidates admitted from 2009-2010 onwards)
B.A.B.L. DEGREE EXAMINATION,
NOVEMBER 2014.
(Five Years Regular Course)
First Year — Second Semester
LAW OF CRIMIES
Time : Three hours Maximum : 100 marks
PART A — (3 ¥ 12 = 36 marks)
Answer THREE of the following not exceeding
6 pages each.
speuQaumm CaarellBEL <Dhmi LIHSH & EhEE OISMDD
Gemeumeuaraudmen gpesdlhe eflent wiaildsa|ib.
1. Offence means any act or omission made
punishable by the Penal law — Discuss.
Qewe isvevg Bawd @iy i HatrLenar FLL s
parL_emadm@lugnasuucird  @mGa  @How
sreniuBh — Gsenen alleundléaab.

9.  What do you mean by the principle of constructive
criminality?
Ghpsde sl @ Quigoyblee Gsriur® rdamrd
GGG 7



B

b.

o —

Discuss the liability of an ing
Indian Penal Code.
@rdw  senLamens FL g8
Hlencoeni ellaunslis.

ane person undey the

‘Qﬁﬁfﬂﬂﬂ Q'Jﬁmjﬂq

State briefly the provisions of the

s Indis
Code regarding ‘Offences against ma 1an Pengl

l'l‘iage",
"@@mwﬁﬁﬂﬁ@) .GTQU"?’ @ﬁJﬂ)@EéT” @sm_iuner G g
panLenany  sULEHD  oder  cuens (esmaT

H(HEHLNS Fafl)s.

What do you mean by kidnapping from. lawful
guardianship? Differentiate from abduction?

slLufian  ungarided @mbs SLESIBD e
ereven? U sauhsme Caumub s sm (.

PART B — (8 x 6 = 48 marks)

Write short answers on EIGHT of the following
not exceeding 2 pages each.

gauQeun( Casrellagn Gram® UssRIsEHsE W
AemaumeuereupmieT el iq M@ Gmifu edent a6 erupsis.

(a) Abduction a continuing offence.

S seUmED @if AaTLi Ghmb. o
(b) Barendra  Kumar  Ghosh vs
Emperor.1924.27 Bom LR 148.

LGBy @it Caney erdlit Gugysr 1924.27 Bom
LR 148.

King

2 2662-14/FPJ

(c)

(d)

(e)

®

(g

(h)

®

()

Cheating.
LD T 5.
Dishonestly.

qorpmbd Cpréssgidr (sdwg) GpiowlOD
apenmuiled

Election offences.

Cairga amips GHOmsaT.
Fabricating false evidence.
Gumi src Awnd gwnflsse.
Grievous hurt.
Qan@rusmun eflenerellsga.
I-iouse trespass.

wenen 155l Bpe.

Innuendo.

LoEnDIPE SHUGID-
Obscene acts and songs.
SLire Qe s@s LINL_ )& (@b,

3 2662-14/FPJ




PART C — (4 ¥ 4 = 16 marks)

~ Answer FOUR of the following (not exceeding 2 ]}ng&
each) by referring to relevant provisions of law and
decided cases with cogent reasons.

Genaumauaaupmer mrendlhe, (geubleun Caeivaldin
@ren® LIGSEISEHEE LOGTOG) FIL GUensLIkisdr WwHHLD
ginonaflasrulL QUPEGEMaNS tafd) HE@bE HaRTTES e
efleni_wefl Gmayin.

7 ‘A’instigates ‘B’ to murder ‘C’. ‘B’ refuses to do so.
Has ‘A’ committed any offence.

“A" aamueut ‘Bl ‘C’ eow Qanem Qsiiged
aar samdprr. ereflgnun B leuaunmy Qs
wpsselGapri. @do ‘A-  gCsaud  Gipn
yfipgiarermyn?

8. ‘A’ makes a false entry in his shop-book for the
purpose of using it as a corroborative evidence in a

s soLle ummoflssiuGn  @f  UFEssHo
2 pfll G snAuors UL sig aimsudld A-
aenueut Qumiwrer ufleyseer Qeudlpri  craren
BonEos “A'- Lfipgdenmi? '

. Deepak knowing that he is likely to cause the
death of a pregnant woman, does an act which

: death of the woman. What is the
the offence Deepak has committed?

court of Justice. What offence has ‘A’ committed? -«

2 2662-14/FPJ |

-

10.

kb

bus crauai gagyeoLw QEud @i sinidenf]
Gl L et emfl e LD 6T 60 FHUDSHD  eTe @gﬁ‘ﬂfbcﬁ'
DFpOEL  @iF  Qeueasr Qeig  OIETE@D
Fhub sgidlmm, Sua yfiss @hmssler seranto Wi ?

Charan threatens to publish a defamatory libel
concerning Vishwa unless Vishwa gives him
money, Charan thus induces Vishwa to give him
money. Has Charan committed any offence.

gpen  Gremueu efldvaur ere@mUeUT  BendE LD
Qar(ssneiiged  yeueny upfl  sjeugIm @eruah
QauellIGCoen  ereny  LwEEEADTT.  @s@Te
cfleveur, srgéE Uemd Qan@aApri. @Ed srer
gGaab @nmin yilbgidrarmyn?

‘A’ amidst vast fire enters into the premises of
neighbouring houses without permission and pulls

down those houses in order to prevent the fire
from spreading. Is ‘A’ guilty of any offence?

A adruaut @it Quilu § elugfld siarawuldgyerer

[

difsefleo  ogodlad powss § Gogib
UFeUmoasl més Sjeuaipsenar GANEQHM A D,
‘A gCgaub GHon Lflbgierearmn?

5 2662-14/FPJ |




‘A’ gives a gold ring to ‘B’ and asks him to pledge ;
for five hundred rupees and give the nin "}W' ;
him. ‘B’ pledges the ring for one thousand ::‘3".
and gives ‘A’ five hundred rupees only. Exd::::

the liability of ‘B’

g Gurdlidens ‘A’ eremueu ‘B’ eremueufl i Gani
BHIY OUNUSE ALEG @ags Lemsens, ﬁ@aﬂfij
a@sg LUy apsorT. B oips  Curdrse
2D GUTLES SILEG @ass A — i ; 5
murew Ger@sdprr. @fe ‘B -G Qun@%ﬁl

Hlanaveni <24, 7miis.

-

6 2662-14/FPJ
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3.
4.
5.

- State briefly _
Code regarding offences against the state

the provisions of the Indiap Pena
syss Qsfoner EDOHSET @hiss Qb san o i
ﬂ.‘-.l-wd) &ﬁu"‘hm Sl QDS Qpanhadaian & o
By Mo

“Necessity knows no law" ~ Discuas

“Gwmllgé' Q““&-.;‘L‘ B Weumiuubw Weed &,
ayflung” - SanPasann

Explain the PSM“U&I:‘ of the offence of theft State
the circumstances under whach it will become

robbery.

Pulpé ehpthe RBefloevuns  ageee
daigs.  aipt  apfocsciie Iy
Qandraaurdpg F@UTS CHELS MDS

State briefly the provisions of the Indian Penal
Code regarding ‘offences against marriage’.

l.ﬁ : ' ni ! ‘ 2y . n 0 2 i » ﬂ

-

2 2477-14/FPJ

PART B — (B x 6 = 48 marks)

Write short answers on EIGHT of the following
not exceeding 2 pages each.

gudeuno Cadrellamn Goom() LastisEss@ OEToeD
(erasmearasdmdr s g be mmpdu elemser g%

(n) Abstment
@bpo.L_ g
by Fraudulently
AT PN
(e) Commutation of sentence of imprisonment.
Ry i pedm_ e B pD
(d) Act of a person of unsound mind.
gy Penconfen Qowco
(e} Unlawful assembly.
FCL. qpye st .
(D Giving false evidence.
Qumis srengy safle.
3 2477-14/FPJ



(&) Dowry death, w
QUIEHL TR DR

(h) Criminal force and nssault
BNEFHSQUD BNES (DEEFI 1

() Criminal trespass. |
GDopn MEY Spd J

() Criminal intimdation

@bnrn Sl Bae

PART C — (4 x 4 = 16 marks)

Answer FOUR of the following [not exceeding 2 pages
each) by referring to relevant provisions of Law and
decided cases with cogent reasons.
Qarupaaupgd prafipe (gauanm Csadsss
Bren( usshisErsE BaTOD) SUL QUSURE Lhyb
Sioraflssiu L apseEmas s sEhs sTTeTLSEs. o
S wallésayn.

7. A, a soldier, fires on a mob by the order of his
superior, in conformity with the commands of the }
law. Has A committed any offence?

B = ; Doiinay. . s
Cuofloe sigiaafien o sfredd awrndwns A e
uene. et 9@ Goush Bz sGADnT. A gCagin @ppd

9.

10,

A knows Z to be behind a bush, B does not know
it. A, intending to cause, or knowing it to be likely
to cause Z's death, induces B to fire at the bush. B
firea and kills Z. What is the liability of A and B.

e Lumflen Seénennds 7 sremueuit Bimsdipni aenueng A
ereateun ifleurm, B TeRLIGUIT UG
sfipflmascilioms. Z G wympams daadiss
creiantl  _sdangy g sGssors wrewiens
dimaciissons oap sflaida B ewd LiEenT
Cpradls A sggran@dipnt. B sGégnt whmpd Z w
GandApni. A whgw B dr Qurg Bea adnar?

A, intending or knowing himself to be likely
permanently to disfigure Z's face. gives Z a blow
which does not permanently disfigure Z's face, but
which causes Z to suffer severe bodily pain for the
span of twenty days. Has A committed any
offence?

Z seuaflar gpazes A aemuat smb HCeswns
Brpdlgons gowsss: add o afibay o
el amiby Qenan(, Z a5 ef siweou QsnBsdam.
=i Z an @pageng Blipsnons gomassdldma. yanTe)
Boug priss Z eu sfewvuts gupps Aeldnsy.
A gCsanitd gopod yisSmsdprya?

A, by putting a counterfeit mark on an article,
makes Z into a belief that this article was made by

a certain celebrated manufacturer and thus
induces Z to buy and pay for the article. What is

the liability of A?
] 5 12477-14/FPJ
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12.

& Quimmér gy A @t G Gumadl  @hlenw
auliusen o, SULLNIHAr ¢ L[ (W T ATY
Qupp swrflburergné SwrildsOuCLg e 7 @ow
pbueasAprE.  @anpns @unmenar  Qunmisa|ID
sgharer uansms Qegidsand 4 euw gner(Rdlm
A é Qummiing Heva eraian?

A voluntarily throws into a river a ring belonging
to Z with intention of thereby causing wrongful
loss to Z. Has A committed any offence?

7 eewamee Qempswre Curdpies A e Z
& papupp Uy THUBS S B LsmESIL
saraflsmsuns @i pblle efl@pni. @ser gpaib 2 &@,
pepupp iy ghuGisidiont. A gGsgid @Gppw
i memryn?

A signs his own name in a bill of exchange,
intending that it may be believed that the bill was
drawn by another person of the same name. Has
A committed any offence?

em wrpn Hlud sog Qerpsy Quuiled sipss FLEG
205 QuuwimenLw Eenenm(m (hLIITeD
QUETUUILCL SIS BOULULOMD 6TemD 0 U &(MmHHIL 6
A eamueur esbwupsddort. A gGagib @HOW
yfiipHmadprgn?

6 [2477-14/FPJ
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LAW OF CRIMES

Time : Three hours Maximum : 100 marks

/'1.

PART A — (3 x 12 = 36 marks)

Anéiver THREE of the followi‘ng not exceeding
6 pages each.

geublaum(m Gaetalla@ b <y LIGSEIS(EhEE ST
Gemeumeuareupmier epemilh @ eﬁ]wgmaﬂé&mm

Explain the stages which precede the commission
of a crime. -

R0 GHOLD Iﬂﬁwmﬁm@& @pm a.mm usu(%eu@ @mma;m S
um[ﬁl sﬁlmn@ :



What is Sedition? Explain the contjt aoh Y |
validity of Sec 124-A of the Indian Penal Code.

05 vesplOD GppEws ey Gbdu
sen_ et sLLfHe 124-A Aifley siyfweentoriy
s U Gsdgiuiguingeat upfl efeursl.

Define kidnapping and abduction. Distinguish
between them.

Gérener  Gigdsd wHpo BLELEHD @eaupdlen
Bossand sapys. @apeop CapuBsis sm(s.

State the essential ingredients that are to be
established for obtaining conviction in cheating.

FOIHOED  GTETEHD @hpsHpsns
Qupeghsrs eaten sl o Lsmpsmar Qwllss

CGauei (LD eTENLINES Salid.

State briefly the provisions of the Indian Penal |

Code regarding “offences relating to religion”.

web  sbupporer  Gophsmer  GHss  Gbsw
se_eeans SLLFHET QUMEWPDDEMET  GHHESLONE
TR BpalD.

9 2384-13/FPJ
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PART B — (8 x 6 = 48 marks)

6. @it short answers on EIGHT of the following

@t cxceeding 2 pages each :

gaQang Cadqells@h Qren® uishisEsé® WETDD
Sleeu(meusmeupmeT T g H@ GnAL eSlenL&dT TIPSHIS.

(a) Rioting

aws ehlenarellgee
{b) Mensrea

@pp wamb
(¢) Kinds of punishment

gseamL_enenuller auenaase
(d) Cruelty

GanHeno
(e) Attempt to commit suicide

sh@aErenew Qe apuhHepa
() Giving false evidence

Qumd grc Huid saflssd

3 | 2884-13/FPJ |




Public nuisance and private nuisance _
Distinguish. o) |
Qurgis [AFIGIOY wpph sefliuce Qﬁ?{mm 2
CaupuBFss. ‘
(h) Grievous Hurt

(2

QarBrismud
() Criminal intimidation |
GHpepp BrLS ;.
() Bigamy
G mweard 5

PART C — (4 x 4 = 16 marks) |
Answer FOUR of the following (not exceeding 2 pages ;
each) by referring to relevant provisions of Law and
decided cases with cogent reasons.
Genaumeuenauppiar prendlpE (gabeun Caaredasd
2 LsERSEHEHES WOETOH ) FLL USRS WHDHID
Siorefssiiul L apé@amer sl SEBS ENTeREEEsL 6T
dlerweflssayb.
7. A knows that B has committed an offence.
A supplies food to him. Examine the liability of A.
shod yflads ‘e’ rHulPaergis AsfbAmpaib
SoumsE ‘o cewey sefiadpr. ‘o' eflen QUL
Benavenius pymiis. e :

8.

‘A’, a woman, ran to a well stating that she would

jump into it. She was caught before she could do

e 0. Whether ‘A’ is liable for any o_ﬂ’ance?

10.

1415

.aj’ aéangih g Quanr Sarpfigdr GAssLCUTaETES

Qenivells Qasnan() FenmGs G enTer. Sieudr
sdiauny Qsinjaperent seueers Gigpg Sl e,
‘o gpreug Ghpies Galp Qurgliumeryr?

‘A’ instigates ‘B’ to burn ‘C’ ‘s house. ‘B’ sets fire to
the house and at the same time commits theft of
property there. Discuss the liability of ‘A’.

‘@) erenuaufian efieL erflé@buy. ‘g TaLwmy ‘o
arenueui gram@Apnt. ‘@’ b5 SlepE  @ass.
2G5 swwupdd smgaer Gengozs HoOL
@hpsesyb Gsudprr. ‘e’ i Qumpitiy
Hleomenw dlars@s.

‘A’ with the intention of causing the death of his
child of 4 years old exposes it in a desert place.
The death of the child does not ensue. Discuss the
liability of ‘A,

‘of ardmuat sagieLd) PraG QS Gpb@sew
snaa.68 CaarBb e TarargsiLar UTaeaasid
AL HeABEpn. syemed Gppos snaadidem. ‘o odar
Qumgiy Blevvew efleurglas.

A and B go to the house of X for committing
robbéry. A watches outside as B goes inside. When
resistance is offered by X, B stabs him to death.
Examine the liability of A.

5 | 2384-13/FPJ |
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A wpge B apdiGuni X créueuflen @dag
QEraTeanuig ISP Qeqoflempant. A eren 0t
@rﬁ}ﬂ.}ﬁﬂﬁﬂ Qeuefiuble ﬂﬁﬁ‘ir_ﬂ ST L ‘ﬁ
B oG Qeempmi. X-enmed B m,

Gga:ﬁﬁﬂé;muum_gn.b B swueré Gsd  Qar Uy

Qeti@prr. A Wer QurpiLY Henew ymiia, oa

‘A’ enters Z's house through an open wind
what offence is A liable? ow. For
‘A’ grémuieuim B greuai(menll Gﬁl'_tq_ﬂuﬂ‘nr ﬁﬂl'.tbﬁ Qe
gpemihleln aupplwuns peopdpn. A eremen @ﬁlmﬁﬁmm
Qurgiumeumi? &

12
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(For Candidates admitted during 2009-2010 onwards)
B.L. DEGREE EXAMINATION, MAY 2013.

(Five Years Regular Course)

(First Year Second Semester)
LAW OF CRIMES

Time : Three hours Maximum : 100 marks
PART A — (3 x 12 = 36 marks)

Answer THREE of the following not exceeding
Six pages each.

geuleunm GCaamell&EIb LMl LIGSRISHEHEE WSHTO
HetreumeuameupmieT ppariln@ eflenwefldaab.

- 1. Will the legal maxim “volenti —non fit injuria” be
applicable to Indian penal code also? - Discuss.

‘QespConmes Gapiug Susnsd Gdma” adgyn
sl pgQum®t @hflu sar_omed s HgE@D
Quin@ppbgion? efleundléseb.

| il b

Ay e

cx crmo el o



Explain the circumstances under whijcp, cy ‘bT
e

homicide will not amount to murder.

aé Guhoasaiea & wremnn ag"‘;”""@r”ﬂ'x@g[b

. T f
Qanened GDOLOISENS eI eflard e, Gbpid

Define “Theft”. When it will amount tq robbegy?
Can a person commit theft of his own Property? y:

‘BB’ aeugmar  a@ruep Qs
qu@urpgy GeraTeeTuTGL.  @m  puF
QummenerGu fmL apiguywon?

o oF)
Seang

Discuss various offences relating to marriage
under the Indian Penal Code.

A sarLemeas  slLs8d Hmwewid &fss
uaGaun @Gpoiisemer erHSHnbLs.

“The ten exceptions to sec.499 state the cases in
which an imputation prima facie defamatory may
be excused”. Discuss.

P0G eru;ggu CuoCarlLiors weuginrs Boudgib og
mfnrsoﬂssuqf;rr_éaauq.u Bewsmer Gfley 499 —ssrer
Lupgl eflflelesEs @ sapdeamper efleundss.

PART B — (8 % 6 = 48 marks)

6. %rite short answer on eight of the following not

exceeding 2 pages each:
gaGauny Caarellagh Gran® UsshsErsE WaToD
Sleneugmeuanaupmier el lohH@ GnEIL el &6 ar(pEls.
(a) Dowry death
GUIGL_FEnERT LOJETLD
(b) Harbouring
LsedlLLb iaflEse
(c) Criminal Insult
GHDPH Sy
(d) Public servant
Qung) esrfluir
(e) Doli Incapax
@Dm Gewe Guiwneto
(f) Suicide
sHQsmene
(g) Extortion
SAFERFHD LOIGHD
(h) Mischief
2nflbL] (=) Qenssiflsse

3 2234-13/FPJ




; s
Counterfeit Currency Note

sarer Cum® 5
h bhetween common 11

(1)
ntion and
G Distmguisb‘ 7
on obje -

comm ; LDi,'Dgslb Qung @Emg,m
@ung *{3@?@ |
Cagubpys-

PARTC— (4 * 4=16 marks)
of the followin

i t
ing to relevan
R s th cogent reasons.

not exceeding
Answer FOUR g S cisions of

¢s each by re :
" piigw and decided cases W1

GreanHiNG i Gaerell &G0

; o dr prandn@ Geuden( LHATETROT

&“fmﬁzi’:ggﬁ?@ Bsmod FL m@&mmmml m;oglzﬁ
@Ujﬂgﬁﬂut.t._ Qi EEH®TE salhl GBS ST R

i Ben_waflsaEaLd.

f ‘B’ who has a
to take the purse O ‘

Ii% 1:11::311:11_:::01 in his pocket. A _wuc.hes the glgg?;.l
Toﬁe pistol goes off and B is killed. a

committed any offence. |
i B auafin uriGesiad @0k
ceut B eremuaiflen  UnE : @ope
ﬁawz:zwu a@is apueBpTT. B 2 LJIT.E@&I_‘Jq.i
CgriLn sadt SLBEL gUuunss mmﬁﬁ@‘sﬁpnn..ﬂ
gounsS e cllenaanip Gg«@ﬁmm.r.g,suuna_;
Ganwy B wrempedpri. A eeiaun ganeugl
@b yfipgdrerym?

4 2234-13/FPJ

11,

X, a child of six years, steals a gold necklace in a
house and ‘A’ obtains that necklace, from x Rs.10.
Is ‘A’ guilty of any offence?

X Tap @0 B0 WL SPHDS GO Slgd s
EWss Yurewsas HmOdapg. A aauan sos
uss mumisg Quuoiflamri. A gGzgud @GHDD
Glswigmym?

A, in India, instigates B, a foreigner in America, to
commit a murder in London. Discuss and decide
the liability of A.

QpfHuneligicrer ‘A’ eremueuir, oQofssreligyerar ‘B’
TH@ID HUDBT gy Qo alld gm Aarew
Qswiubuy srar@Enmr. A Wer Qummiin flenevenus
20MES STorernd Qais,

A lays out a net and catches fish from a portion of
a river on which B has exclusive right of fishing.
Can A be prosecuted for theft?

B’ é@ w @Co Beng s@n o Menw o drer < mledt
80 UeHula A amaen @aufm Ben 1Slg sBpni. A
Bg HmL (s Gopid FTL LU eimom?

‘A’ takes up a stick saying to ‘Z’. “I will give
beating”, Is ‘A’ liable for any offence. St
80 GFSuLen ‘A’ areanueuit 2 epi Limits i

g By 2 ms®,
Sg smCadn aremy samBpmi. ‘A’ 9Cagib @mmi
Uflbgeuyn? i e

; (22341377 Py)




12.

A finds a rupee on the high road, not knowing
whom it belongs. A picks the rupee. Discuss ‘

liability of A.

wunméE 2 flug eanm Sflwmod A @ Uty
QAn@Essrammuian SL&s sremdloni. oihs mumenw A
(g G0 aTaTE DT, A —ufer Qummiy  Hleneenw
eHlen& G5,

6 2934-13/FPJ
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FPJ 1902-12

(For the candidates admitted from 2009-10 onwards)

B.L. DEGREE EXAMINATION, MAY 2012.
(Five Year Regular Course)
Second Semester — First Year
LAW OF CRIMES

Time ;: Three hours Maximum : 100 marks

PART A — (3 x 12 = 36 marks)

Answer THREE of the following not
exceeding 6 pages each.

geulleun Caarellé@ b um USRS ERSE 0 &TDo
Slemaumeuaneummer oendln g eflen weallésaib.

1.  Criminal jurisdiction of the Indian Penal Code is
territorial as well as extra territorial — Explain
with reference to leading cases.

‘Grdu g enend slLgdlen @poelluew sy
cub Hlevsuenruded wi Hillen Hleveuenyas SiUmgIb
Qeweau@n”. waflu aups@smear ConCaner smiig
alilen (5.



2

Discuss the various offences relating to mfu-rjag
Amoend  FDUBSLOTET uaCGeap  GHDRSmer
feunfés.

lpable homicide is murder unless it comes
E:gg— Zl:ljl: one of the fine exceptions‘ to sec. 300 of
the Indian Penal code. Explain with illustrations,

- 2 5 0L 1o 9fley 3006 sapliLiliq (HéEELD
hElw peRTLenernE sLLLD . Tt - C
grj@ dasgseafe gGsgid w@m '_Gi-ljbﬁrrmm;m.
gaQanm wrambd eleadsgh GHOYD BsTmas

BDOOIGLD. a(sgiEsn - HaEpen alasEs.

Explain the offence of abetment under the Indian
Penal Code. L : :
@idu pam_mas sLLpBenr & GIDS HISBHD
GHnGHmen oflend@s.

Define ‘theft’, Can a person commit theft of his
own property. :
Bm@ eerumg cwearuap Gsls. @@ pUT sang
QummenerGi S apigujLom?

PART B — (8 x 6 = 48 marks)

Write short answers on EIGHT of the following
not exceeding 2 pages each :

- geu@aun Gaerellagn Grem® Lbsthsenss Wsmod

FCp@Ib alinhE Gou e Siafisaab :
(a) Define unlawful assembly.
sl AGymsonen sl L eng eueywienn @sil.

2 1902-12/FPJ

1

(b)

(c)

(d)

(e)

®

(g)

(h)

Offences relating to election.
Caiige sbupgslLL L GDORSET.

Examine the extent of insanity as defence in
criminal liability.

@;ﬁj}u Qurgiy fleese afi upsemmuns
G&g Hlene B{ENDEUGHT DTS,

What is sedition? Explain with case law.

Ggsp mCrman erenpred cremen? UPEGEMaTE
Qaran(® ellersss.

Explain the offence of giving false evidence
with illustrations.

Qumis e’ fwib siafisssd GHoslmarn THSHE
ST DEEhLen cflaréms.

Distinguish between criminal force and
assault,

GOPYPD STEGEL LHPD TEE eoarsin —
Capu@sds sm_pa.

Write notes on extortion.
HAEEDEAL LPSEH LHH GOy erpgs.
Define the offence of defamation,

SHUBID GDDSHenen suenTwienn Qs

3 I 1902-12/FPJ |




(i) Define house trespass. When will it bec‘e
lurking house trespass?

wear BBl Bpea eumiwueap Glaw, o
AL Siy@a gaflhg  sHEpans
lDITmlLDk )

(%) Distinguish between hurt and grievous hurt.
srwd  wpphd  Qer@rstud  Caupu®ads
&1l (Hs.

PART C — (4 x 4 = 16 marks)

Answer FOUR of the following (not exceeding
2 pages each) by referring to provisions of law and
decided cases with cogent reasons.

Yereu(meuaneupmer Erending (geaudeur CaamallaEn
Dren () LsERhEERSE WISTON) FLL CUENSIIMKISET HIID
Srorefldaliul L eups@Eamers safhl Canencuimen

SMyeRThIGEHLen eflent wiafl&aeib.

‘A’ the wife harboured her husband knowing that

he has committed a murder. What is the offence
committed by her.

‘o aagid woaed g samcud QaTamaEGDHDL

Qeudmaédpren  aeuws o al!ﬂﬁﬁ@ﬁﬂﬁ“
Saugbg UsdlLnd sméprer e Galg GHDD

4 1902-12/FPJ

GTennen?

84 ‘A’ a surgeon, in good faith communicates to a

¢ o

patient his opinion that the patient cannot
survive. The patient dies in consequence of the
shock. Discuss the liability of the doctor.

o Spwe Afléms wmsgearTar ‘S eremLcur R
CopmwuneflQ b wyeur Geripés  wmiini  erengy
gL H0Grmuges peolearansCs®
Siflefl&flpnt.  ayemmd fneflllen  eSlenereuns
Gprurefl  wresroeL Apmir. wmsgeuflar Qurgliy
flovewaw danrdss.

A before going to the market, left his gun
unloaded. ‘B’ in the meantime went out shooting
with the gun and left it loaded. ‘A’ on returning
back took up the gun for cleaning, while doing so
the gun went off and killed his wife. Discuss the
liability of A.

(1

£ qauel saL  oflsE Cunashe, (pen
guunsdleow @ean@ssr Hrlurod aagsy L@
Qeenprit. Qenent '@y’ cremueur Sigaman e HHsQaanny
vweauRss L@ Gohagriean sQL  Howulia
@aubg et ‘@ Hmod UbSH SiHs GIiuTsSenw
#5510 Qeiyd Gung GHQ LTUBg g waared
@ops AGADrT. ‘o oS Qurmty Heweaw
sfleundlés.

5 | 1902-12/FPJ|



10.

11,

12,

T .

A has an apprehension that ‘B’ ig 20Ing to ki) h:
by witch-craft. In order to protect himself ‘A’
‘B’. Discuss the criminal hiability of ‘A’ a
& eenueui Gl Gellussnd geareney Qamen
Qeawy CurElpmT eeip Fsb ‘g E@ o cn "
B geeenl UNHETEHE Cardeusnsns 'y
GQameney Qewgy efBHmm,
fleneenu syrmiis,

LUt
s : s Eheus
=i ellein Shou QUH@;QM

‘A’ falsely represented himself as ‘B 4 a
university examination and got a hall ticket under
‘B's name and wrote the examination. Discuss the
liability of ‘A’

‘@' eTemgyd FUN Femenen ‘= erenm  Quimiiung
SeLwmend sl UdsmWESPsS Caiey genfla
o, dflar Quwfle sigiodl SO armd Cgie
aupdlemnit. ‘= oflen GopU Quimiy Heneeny
clleundlas.

‘A’ for the purpose of inducing ‘B’ to desist from
prosecuting a civil suit, threatens to burn ‘B's
house. What is the liability of ‘A’?

‘@ gen Bg ‘@ erenueul @if e fleno Guid UL,
CurLmod sOLUSHETS Beumenw il e eflgs
BlPGeuen erar ‘@ e WP @HApmT. ‘@ eflen
Qumrmiy Flenev ereen?

6 [1902-12/FPJ
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11.

12.

Pranesh without any cause fires a load gun iﬁa i
crowd and kills one of them. Is Pranesh guilty g
murder, although he may not have K%y
premeditation to kill the particular individyal]

P DL gal_ L S0 & e &1y 6 GLo g\l g
gluursdlenws uweu (g Tl L5l 2 drar gmauany
SgnGenely  eremueuit &1 (i Qaremy  AEREHmm
GynCerely  aremueur ehs  SaflulL ERHeuEnTILD
QameweushaE aparent S Ll eloene. sieuir Garamea
GO QeLgaunyrss smeluHeuryn?

Punithan places men with fire arms at the outlets
of a building and tells Kamesh that they will fire
at Kamesh if Kamesh attempts to leave the
building. Discuss the liability of Punithan.

G Sligl shlen .;glmm,fb@ Qeuefl  surulcvsafigyid
yellgen aenuet giiunsda@s e e smear Hnss.
snGioge eaenues slul s  AILH QeualiCup
(penenbgne), &TELMay Heurser aa@aﬁrrfmah erem
snGuwedlLd sapdiprt. yeflgers Qummiuen. caer
afleundlésmeyn.

6 1711-11/FPJ
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FPJ 1786-11

(For the Candidates admitted from 2009-2010 onwards)
B.L. DEGREE EXAMINATION, NOVEMBER 2011.

(Five Year Regular Course)

First Year/Second Semester
LAW OF CRIMES

Time : Three hours Maximum : 100 marks
PART A — (3 x 12 = 36 marks)

Answer THREE of the following not exceeding
6 pages each.
geubeun(m Caetellagb <y LéESEISEREE BT
SlemeumeuaraubmeT apemiin eflenL wehés,

1.  Discuss the doctrine of mens rea and its
applicability under the Indian Penal Code.

GOp walunerewew daurdis =g LEAT
samLeens  Qsrglus sl gHa QurmBHID
genenloen elleundlés.

2. “The Mc Naughton's rules are still received in the

courts as the binding authority on the defence of
msanity” — Examine.




b
B
h—

‘955 Beoe cap afiaunssms Swdprsdr gpsin
amsulle  wapr_Lan dliflsdr sHAUIPEHID @4
Qup Berudd sewpgicrarer” — sygmiis.

Elucidate the territorial and extra territorial
operation of the Indian Penal Code with reference
to decided cases.

Bpu gam ey OsTELY s sdan fleo wyaeumy
wppd Up flo s anby GHEE ey
Qauwiul L ausssEser Buibys.

When does culpable homicide become murder?
What are the exceptions to it?

wpamd elweralsgd @HpL auCury Qetemaws
®Dpwors wIyL? @sHarer ol eflevs@aer wranes?

Explain the expression “stolen property”. When
will a person be made liable for receiving or
retaining stolen property under Indian Penal

Code?

Ho-65 Qonggy eram Qamiidpm ey eSonies. o
G0y St (b Qomiensss QL ; gy gl
asSmbsonss Qu ToiiLenL 68l @ e @ pri?

2 | 1786-11/FPJ |
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%

6.

PART B — (8 x 6 = 48 marks)

Write short answers on EIGHT ‘of the following
not exceeding 2 pages each : .

gauQaungy Cadalls@n Bren® UsERSEEE iol&moed
Y éneumeuemaunpen s i@ GDAL sl T(ggs.
(a) Enhanced Punishment.
sifsfasiul L gem_emer.
(by Sedition.
SITENF LIS apL(Hbd GDOLD.
(¢) Unlawful assembly.
sUL apryedT Sal L 1D,
(d) Kidnapping.
Garenants Glig e
(e) Attempt to commit suicide.
shQaneme qpupsl.
{fi Defamation.
SIS
(g) Harbouring.

DT LIGISGSD.

3 1786-11/FPJ




(h) House breaking.
e euei LBpe.

(i) Criminal force.
ENEEHD.

() Doliin capax.
GHollapss Quarew.

PART C — (4 x 4 = 16 marks)

Answer FOUR of the foHPWing by referring to relevant
provisions of law and decided cases with cogent reasons
(not exceeding two pages each.)

@daﬁm@m?m!sﬁa DO Brerdlne, 5L uensWIRISET DD
5rru.arraﬁssl‘.ll.ll'_l._wp$@&mm&'a &, Camreanurer
sMyenmEELar efleLwellssayb. (e Qaunm Caarellamib

Bren(® vsstisEnse Wamod) 3

Benham requests his fri i
nha : end Anil to inj i
Anil did so and in consequence Benh:;iegjegem

was prosecuted fi
the liability of An?lr the offence of murder. Decide

geng mawmuen Cuensiuflen CouanmBeq sfamris oiafl

s . = 5 ﬂ : :

g::rumrr Gucn{&tﬂm@ oatf) aumuSleona Qm)mﬁis:srsiw' b

o ;g. : g@;:._m,s Qagu,sﬁmrm Blgen s&'laraﬁz

s m.;.u' nhs gLL.ITrI. <efld Bg Qsrewa GHob
el s ;

Gpl_l_ Q,%u'_,s_ W erenUeurg Qummtiuen e enen

4+ | 1786-1UFPJ |
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10.

w—v——'_

PR !

A creditor takes movable property out of debtors
possession without his consent, with the intention
of coercing him to pay his debt. Does the creditor
commit any offence? ’

sLan  Quppeufien o enL_enwoullgyerer S{enFLLD
Qanggisamer ATH Gensaciiend) sLeanp HoLds
Qugiss apUpBHD TSI BT aphdluaim
genganLeououdler &p Gsran(d amdpri. &
anprufweulr GHOL gGaaid @enippgieTayT?

Anbil finds a valuable ring, not knowing to whom
it belongs. Anbil gells it immediately without
attempting to discover the owner. Discuss the
liability of Anbil.

wHULWITHS Curdyd geneDd sande eremueu
senQ@adprt. SE UnGE-LS g SPlu
PUHEEETS oL Car  cApmelGADTL. SiemSled
GremuIeu Sl @urrgulhumt_sﬂmm Aeundés.

Ayyanar digs a hole in Azhagan's premises and
places contraband articles in it so that the
discovery of the articles will incriminate Azhagan.
Examine the liability of Ayyanar.

Sipseng weeansld smweant gn An 6P TOE

| oifld sdrard sTEGSET vy ousdprt. ibHE

satenés  aUE@seT & Qg saliulmd  SHpEE
aauai  @pp  cupsdlnp@erenmer e
2 GTCHIEE L6 Qs &lprir. SIS
QuigLiueLehlenan Hiay Qais.

5 | 1786-1UFPJ
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11. Kamalesh instigates Govind to burn Guru’s houge
Govind sets fire to the house of Guru and comgdis
theft of the property of Guru, Discuss the liabiity
of Kamalesh.

G&m eeuerg ler aflyle  Garelbsmeng
swCedy caueut grar@dpnt. Garelligear, G
alyh® Sowssh eurg Cergflaer HmEEpm.

swGady eratusuflar AurmuuenLellenar eSleundlssey.

12. Rama under 18 years of age, being ill treated by
her stepmother, goes and stays with Kavitha, a

women for two days. Is Kavitha liable for any
offence?

18 @semadg Gopeanar mor aem @aredl wrHO
gmllen QanHeno BTaETE sellsT aenn Guekrgp e
Q@ prisdar shd @mbanr. selsr gstaus GHOL
Benpsseunn?

6 1786-11/FPJ
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(For candidates admitted from 2009-2010 onwards)

B.L. DEGREE EXAMINATION, NOVEMBER 2010.
(Five Year Regular Course)
Second Semester — First Year
LAW OF CRIMES
Time : Three hours Maximum : 100 marks
PART A — (3 x 12 = 36 marks)
Answer THREE of the following not exceeding 6 pages each.

geQarm GaarellsGL <0 UESEISEHES WETod
SeneumeuarehpieT e HlDE eflenLwiefléEs.

1. “Every commission of a crime has four stages”
Comment.
ga@eaurm @hpé Qsudigd prad Hlencvser o eraTer.
eflwoiélés.

9. Examine the essential ingredients of the offence of
kidnapping. Distinguish between kidnapping and
the offence of abduction. |
‘Garener Gussd GODPEHET SigLUML SpE®ST
gmis. Gdmar G4psd GOHPEPS BLELHES
cppsHSmbH Capubsis sm-Bs.




£

3.

turn into rioting.
siL ciGyrg GLUGD  ADTLDD Qs
QU 508 GOUANS LIKEDE remuens sﬁla_:

Define unlawful assembly and state whep dme

Explain the offence of criminal breach of
Distinguish it from criminal misappropriatio
plsams Cuonss gﬁ)m,s,ﬁénm
aswum_dldmbs Caupu®igs.

n.

State briefly the provisions of the Indian Pena]

code regarding offences relating to religion, What

changes are required in the existing law?

sow  sbupgsorer  GppRismar  GhlEg ; :

2 - . :
W.n_s:ewé EI-'Lﬁﬂﬁ;l UeEpenpEaMaT a@?:ﬁr: :
T0EsE mpayd  sHAUTEEL s pAd  erenan

wrppiser Coeneu?
PARTB——(Bx6=48maﬂm}

Write short answers on |
i 2 e:ch E:IGHT of the following

g Cadrelawi Gran L
i SERSEES WETod
{'-::m@ﬂ"'ﬁlﬂm"f TLGHE Gpdw eflen tr@g:.
lamn when a person i
e
s ﬁ‘"‘ﬁ“" [from fonups goat
TNy pamsatuLann aéms aGBEE
{ dleungés, =

2 [1658-10/FPJ |

trust

eflenégs,

(b) What is the effect of consent on murder?

Qosey, Qsrows GDPEHE Bg s
wrhpsHenen gHUBHHID?

(c) What are the limitations to the right of
private defence of the body?

o Lp gpsriyfienssrer sLUUTBEET wreneu?

(d) Distinguish between

(i) Criminal force and assault

(ii) Simple hurt and grievous hurt

(iii) House breaking and house trespass.

Spisam_appiear CapuBsdls smn-6s.

() GOHPPH WD LHPID FIEGHY

(i) sngnyem oLgIp oHpIb GEmaw oL I

(iil) serenbBpd LHHD e SiHHBDD.

(e) Discuss the following defences.

(i) Harmful act done to prevent other harm

(i) Accident.

Spsan  Qungeiren
efleunflaseyib.

() fiug dmadbss mgu amd GHRPY
eLsmpPenfl Cap fhwap sOULBHETES
Relwiu@eugioner Aaliens,

(i) pHGswd Hlapss.

3 [1558-10/FPJ |
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()

@

)

Explain the defence of insanity with degj
Bl L )

Gz hes adirenssSlaen
QupEGsOaTE Qane() eflenE@s.

Qaaypp

What must be proved for a conviction for an
offence of defamation?

o® Sugiy GDD SGPE aeen Quindésiu.

Cauam(Bm?
Enumerate the various kinds of punishments
provided under the Indian Penal Code.

@rdu semmers sLLFHD  spUUL Herar
LIGCaU QUDSLITET ST PETEMET TRSHILIDLS.

Examine the provisions of the Indian Penal
code which provide liability for extra
territorial offences.

PighHE Sumd QEButLEn GHDESEsEEL

Qumyoy fleow gpussid @bu GHpelud

What is criminal conspiracy? Explain,
@ODePY &8 aepre ereren? ellaté@s.

4 1558-10/FPJ

PART C — (4 x 4 = 16 marks)

wer FOUR of the following (not exceeding 2 pages

each) by referring to provisions of Law and decided

cases with cogent reasons.

QenaimelaTaupmIeT BreESDE (geuQaur(d CaerellE@LD

@ran® LESRSEEES BEmiod) UL QIESILIBISET D@D

SinorefissiulL agseamas s, Canirenauwimern
smyeras L6 6l en_wefl&saD.

‘A’ draws a picture of ‘C’ running away with B’s
watch, intending it to be believed that ‘C’ stole B's
watch. What is the offence committed by ‘A”?

‘g eremueufien SqsMTHMS ‘@ eremuauit H(Bis- Al LT
eI B PEUEGLD CTERTERMBHIL 6T 2 eremuauflen
susmEglLen ‘@) el @ AL erendlp UL LD
genep ‘o eremuei auepdpri. ‘@ eremLeult Qswg
@b wigi? SiomreflEseyd.

‘A’ and ‘B, lovers decide to commit suicide since
their parents do not give consent for their
marriage. Both of them jump into waterfalls. ‘B’
the girl dies but ‘A’ survives. Whether ‘A’ has
committed any offence? :

shsag QupCpmiser Hoversdie Qosas 57
wpEEET® sngoisdr A-wb B-uyb spEsrame Qeiiw
uey aBsdprisd. @uacd 86 GG
GHadprisdr. simedluile ‘B’ @nafpner. sgemd L7
2.t Qenypédipren. ‘A’ gCs@b GDOL LippeurT?
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A ran after the complainant with an axe in
hand. When he was only four paces from

complainant the axe was snatched away from hig
hand. Has A committed any offence?

@ erenueut  @op  apepuliimert  Gememmé
Garnflwen  @uennt. Geugid prenc, &TeVlq SeiT
@ Qeefllier @t  esldmbs  Carinf
GlPrstuCLg). ‘o gCsend Gnob Qedigedrermyn?

‘A’ finds a valuable ring. Not knowing to whom it
belongs ‘A’ sells it immediately without
attempting to discover the owner. Has ‘A’
committed any offence?

whoy  d@ps CurdrQuretepn g WIIT (T
Qempporerg eenpy  Gaflwmod ‘s  eaenusi
samL[HEfpm. Clenpasasnyeny &ein (H19 1q 55
YupSHlésnod ‘o g e Can elpy eSOHpmT. ‘o
gCagib Db Qaligerarmyn?

A cuts off trees standing on Government land.
What is the offence committed by A?

<55 fesHgerer  wrhsmer ‘s’ ereueuit
Geu G i eremieult eTenen GHHLL Qg eTeni?

‘A’ sells milk adulterated with water to ‘B’ by
saying that it is pure milk, Is A guilty of any
offence. Discuss.

bt sops Ut ‘o 19-6@ Sbswnen LTD eenm s
elpAenprir. ‘er’ gGsgIb @b Lfpsnyn? efleund.
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idates admitted from 2009-10 onwards)

(For cand
B.L. DEGREE EXAMINATION, MAY 2010.

(Five Year Regular Course)
Second Semester — First Year

LAW OF CRIMES

Time : Three hours Maximum : 100 marks

PART A — (3x12=36 marks)
Answer THREE of the following not exceeding according
6 pages each.
geubleum(m Caarelé@h D UESHSESS WEmoed
G\ eimeu (heU eTeuH DT apendlDE e weflEs.

1. How far the concept of Mens rea is adopted in the
Indian Penal Code?

@pHu  gewTLenen QanELus srLSH @D DLOETE
Cami_un( eresaung evawrariuL (Herang?




_—

Enumerate the circumstances in which a person

property.

Qsmgapls UNTGSTIUSDS sparuyfeneaniy
LueaU@PssD Qurwy Thsd Gpfeasdd o
DPPAUIMES  LOTIHDS FpuBSsmDd aaTuemg
RS bLS.

can cause the death of another in defencw\

By what means the offence of ‘abetment’ is
committed?

aBAgss cufsdio “ebp eLpos’ aeddn GHpY
yfwiuE&pg.

Define and differentiate the offences of murder
and culpable hommda.

wremd deadlighd Ghpd wHpd  dsTews
Ghpsas ueruep ALy CapuBsds s Bs.
Explain the offences relating to marriage dealt in
Indian Penal Code.

Smwenr sbUBsULLL. GOphRsaTs @Sl sauL e

&L Hld ampliul_érer @gpohiseaer eflaufl.
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PART B — (8 x 6 = 48 marks)

Write short answers on EIGHT of the following
not exceeding 2 pages each.

gaQeuna Cadellaab Gnen() LEELSEEE HETOD

Géreumeuenauf e oTlin @ G ellen TS5

(a) Explain the ingredients of theft.
Ami® cap Ghpsfan HESE  ampsT
ellendians.

(b) Discuss the defences to a charge of
Defamation.

Sl GHPL smLruC 5PE odaa afi
aunghiseer clleurdlss.

(¢) Explain the law relating to
“Criminal attempt”. Give illustrations.
“sbp wupd® shisre sl ws Bassaybd
T BpgIsET_ DT 5OS.

(d) Explain the ingredients of the offence of
“Sedition”.
“ au& - @ = 3 Eﬂ-) - B - . .
dlarégs.
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(e)

®

(@

(h)

@

0}

Discuss common object under section 1453),[,,-»\”
IPC. Mg

@pfu pam_mens s pder Gfley, 149-an &y
splu@D Qurg GhlsCaneamar efleundlssatb.

Differentiate fabricating false evidence from
forgery.

Qumii sreary Uy Quml  eird
sunflssdle @mis Caupubsils sn_(s.

Examine the essential ingredients of the
offence of Rioting under the Indian Penal
Code.

@ifw pam_emas sLLshan &P sas GHnsHean
SaMiEENET SIS,
What is the effect of provocation on murder?
Ehyd Qeremes GhpsHen 8g  adems
wrhpsdeear ghuBSHID?
Discuss the objects of punishment.
gamL_eandlen GCprésgens aflaund.
Explain the liability of the acts done by
drunkard.
g SEpHuc Qelg Geudseflen Gummiy
flerosmer el aré@s.
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PART C — (4 x 4 = 16 marks)

Answer FOUR of the following (not exceeding

2 pages each) by referring to provisions of Law and

decided cases with cogent reasons.

Qéreumeusneuppier prendlp@ (geQanm CaerellEen

Bren() usstsEES BsTOD) 5L cumsLIkIEET LHTLD

Srwraflsstiul L aipssaear Carimeanunss s

elen_weflEseyLb.

‘A’ and ‘B’ who are swimming in the sea after a
ship wreck get hold of a planck which is not large
enough to support two persons. ‘A’ pushes off ‘B’
who is drowned in the sea. Discuss the liability of
A,

g0 suue Aspe. GOnG ‘o ayb ‘g ayb sLdld
BB Qsnangpaesdd orEgse® pampl LpRE
Qenardlpriser. SbwIEHETR QoS FTRSE
smupugrs @ome. ‘@ dear ‘of ab gared
Apdpri. spamd ‘) sLdle pppd AEApmT.

<2 erenuieu et Qumg iy flenwens efleunfliss.
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10.

11. _ A, a beggar who has been starving for the past one

A, B and three others went to the house of M
committing robbery. A watched outside as rs eek requests B, a rich man, food to eat, B

went inside. When resistance is offered by X, B
stabs him to death. Examine the liability of A.

A, B eaeuais@Esd opob pem FuiseEnn X
aeruaufler QoesddE Csrarener DRLILFHETS
Qeeflanpni. A ceniai @ocsHdar Qaahidd Py
ameuc umriggmi. ‘X' enméd erdliiiy Gsflefssiun L gib
‘B  owey gsHs Qaree GQeudprr. ‘A’ e
Qurmpitiy Hlenaenws ,Tmiis.

‘A’ under the influence of intoxication, attempts to
kill ‘B’. In order to save himself shoots ‘A’ dead
with his pistol. Discuss the criminal liability of B.

‘e’ Cureng faauldimps Curg ‘@ aas Qstaw
Qalw apupflepni. ‘o saemeas s1sss Qandrar
‘@’ @ g espguurERwurd &LH Carem
s, ‘<’ ofler Gpp QurpitiGeer efleurdléseb.

‘A’ a police officer tortures ‘B’ in order to induce ‘B’
to confess that he committed a crime. Examine
the liability of A.

‘@ aauamis  sTbEHPL  Calssts  GUUS
Qardr@ptd Uiy gren(ouspssns ‘s el ‘o adgb
sreud sigaai HiHreuems Gaidpm. ‘o elgienLw
Qurmiiy Flevaenws BLymiis.
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12,

refuses wantonly. The next day ‘A’ dies due to
hunger whether ‘B’ is liable for any offence.

ELBS @M eungons vlum@mss ‘o eap Gm
N&ensEanyen LerTEsyenTen <3 el smidL o ey
Cenmdlpmt, Caan® QueaCp ‘g wysdpn.
uflfenrer wpprer ‘o @padpnt. ‘a BT GHDD
ufpssHE Qurmiureuryr.

A borrows money from ‘B’ repromissing that he
would repay it soon. ‘A’ had no intention of
repaying the money when he made the promise.

Has ‘A committed any offence.

‘o erenuul sren sTegTwsBlan sLmams HmuGs
QsrRsgefPeusnas sl ‘g’ el ib &Ler euniGApmi.
<end sLoas Solds AsBss HDugrs ‘o
eflLib sapib CGurgy ‘& eyE@ sLeeans HmUuds smo
2 L EmHS ggb Geome. ‘o et gGsgib Gho
Qaliflmadprr arenuems cllaé@s.
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